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Review Exercise 12

Which of the following are true and which are false?

Bisection means to divide into two equal parts (True)
Right bisection of line segment means to draw perpendicular which passes through the
midpoint of line segment (True)
Any point on the right bisector of a line segment is not equidistant from its end points
(False)
Any point equidistant from the end points of a line segment is on the right bisector of it
(True)
The right bisectors of the sides of a triangle are not concurrent (False)
The bisectors of the angles of a triangle are concurrent (True)
Any point on the bisector of an angle is not equidistant from its arms (False)

Any point inside an angle equidistant from its arms, is on the bisector of it (True)

If CD is right bisector of line segment AB , then

(i) mOA = (i) mAQ= R T .
Solution ) O
(i) mMOA=mOB
(i) mAQ=mBQ \
Vo

Define the following

Right Bisector of a Line Segment

A—p B

A line / 1s called a right bisector of a line segment if / is perpendicular to the line segment
and passes through its midpoint.

Bisector of an Angle
A ray BP 1s called the bisector of m £ ABC, if P 1s a point in the interior of the angle
and m~ZABP =m./PBC .
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(i)

The given triangle ABC is equilateral triangle and AD is bisector of angle A, then find,

the values of unknown x°, y* and z°.
Solution

In equilateral triangle all side are equal to each and there angle of the triangle equal to 60°.

So
ZB=z°=60°
AD 1s the bisector of ZA
ZA=60°
.. When angle A is bisected
<° = yo
1
x°=—msA4
2
= l>< 60°
2
x°=30°
yo —3(° ( ¥° = yo)
So x° =) =30°
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In the given congruent triangle LMO and LNO find the unknowns x and m given

ALMO = ALNO
mLM = mLN
2x+6=18
2x=18-6
2x=12

5
x = 6 Unit
mMO = mON

S.om = 12 unit

CD is right bisector of the line segment AB

If mAB=6cm then find the mALand mLB
Solution

L is the midpoint of AB

~.mAL =mLB

2x+6

L

m




(ii)

mLB = 3cm ( mAl ~ mm)

If mBD —4cm then find m AD

mAD =mBD ( Any point on the right bisector of a line segment is equidistant from its end
points. )

mﬁ =4

mAD = 4cm



